X=c

Table 30b: XXXb:

Sub-Matrix 2, when +4 and A +3, Gives the PREVIOUS c-value in the 5-12-13 PPT Series.

13

Gives

(xn-1)/4 A A3 S 13

X 13 3 13
x2 169 42 39 13 — 169
x3 2197 549 507 169 — 2197
x4 28561 7140 6591 2197 — 28561
X5 371293 92823 85683 28561 — 371293
X6 4826809 1206702 1113879 371293 — 4826809
X7 62748517 15687129 14480427 4826809 — 62748517
X8 815730721 203932680 188245551 62748517 — 815730721
x° 10604499373 2651124843 2447192163 815730721 == 10604499373
X10 137858491849 34464622962 31813498119 10604499373 — 137858491849
X 1792160394037 448040098509 413575475547 137858401849 == 1792160394037
x2 | 23298085122481 5824521280620 5376481182111 1792160394037 — 23298085122481
x13 | 302875106592253  75718776648063  69894255367443  23298085122481 — 302875106592253

Table XXXb. Sub-Matrix 2, when +4 and A +3, Gives the PREVIOUS c-value in the 5-12-13 PPT
Series.
When one subtracts 1 from the exponential values of ¢ (the c-value of the PPT) you get the Sub-
Matrix 2 value. Divide that by 4 and take the Difference (A) between it and the next. Divide that by 3 to
give the PREVIOUS PPT c-value in the series.
The variable divisor 3=Sub-Matrix 2 value/4 = 12/4.
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